FUKUTA®

FUKUTA ELEC. & MACH. CO., LTD.

1= #E BY =X [/ 36 &) i
.¥ AE series (IE1/1E3/GB2)

INDUCTION MOTOR

SR RIYEHI;H
DN.,AN scries (IE1/B%E)
SELF-VENTILATED INDUCTION MOTOR

BESRRXES I

¥ AM series (1E1/1E3/GB2)

INDUCTION MOTOR
Light-weight Type

EHEHEE
T,V series

[ 4 INVERTER DUTY MOTOR

ERNREHAIHEE

.
: '\\\ AT, AV scries
. " INVERTER DUTY MOTOR
KENHBRFHANE
™ / VM scries .
INVERTER DUTY MOTOR E‘ ﬁ 1% E

.L G,D scries
INVERTER MOTOR

BMREREIE
AG, AD scries

INVERTER MOTOR

TETT LY

(41,% / DM scries
INVERTER MOTOR

- N

-y R ‘ _

4 - \i
INDUCTIONMDTOR

WVERTER DUTY Moror W

]



FUKUTA®

INTRODUCTION HISTORY

1988 &£ 4 ARARMIL ©

1990 £ REMIWIBA FER > PREEESEEEDS

1993 F 2EE—RIQAME EEEREE o

1996 £ @i 1S0-9002 FEMRRAEERE o

1997 & Z2EBE—REAWE ORRERRER o

1998 & (1). SREEB TR HEER IRRERRSE) ZHBIE
(2). 2RTIERIBIB CE MARK BN 75255 o

8l 5
CEEY 2000 & (1). IERRERREE) REFNES LSBT REBRRERS
TEERIH > BREZMERARKELE o BEFZIZI > JIReH - UER (2). REMIBREESRARERER (BEFTHERMBRAE) BPRKTFEEEEES o

FRAEER > RHETHEZEREARFEMEXHAIETE » REAR

I (1). TESREAKE REETEAEBERRE
KARFEEK o

2001 £ (2). T100HP R 150HP RUERAREE) ML HLPRAMER SBIR sHEMHE o
(3). ZRIIERBIB CSAMEAKREELRHRRE o

2

(1. THARARSE) SES+—EaERBIES -
ILES) > HFEIEMES  ARREASRZEME « SEAM > BIEAE 20026 (). BB ASHE—ELERRE -
RRRRRVT(EIRIE ; BMLEE) - RIIEREE » RILRE - #AIEE A% - @ (3). {838 150-9001 EIRGAHDE -

AZRZEF ° . .
. MERMRPEFAKE) BISQLMITESR CITD stEHH8) -

E

e 2003 & (2). AEEH/AEVH/AMEH/AMVH Z3iEiBE RES MR RIEEERE
W 15 (). TEEEERESARE BER+EONRBRE

HUERAE  UERNERRHERLE - R 8 BRATHERRZ 1. 2501 R 400D SRR NS SBIR S -
RA) > SERARREBERE > EENA2ERRRY  UEAMILE © 2004 %

(2). TRUFERIBRFEIE Frame 225 REHE+=EAEERIRS ©

(1). B2EA ~ XEBHBEHEDFIET TRAFEY  BHERE (2BH )1 RiTSHER-

i i 2005
INNOVATION isto create aggressively, pursue customers F (2). BERT B EABMHRERAR ( LETERERAE) - SHEREAEEE -
satisfaction and maintain the company's ever-lasting prosperity. We strive

for creativity and innovation at all time. Based on the concept of customer-

oriented, we provide satisfying products and service to our customers so
‘%‘&FEFHH&#( %?ﬂfﬂé%ﬁﬁéﬁﬁi@ﬂio

. RS ERAITAR 2006 FEEXAIMMRKL o
5). REMIEEARKRNAMAT > BAERARERAIESEERS

that we can make profits efficiently and maintain the coampany's substantial 2006 &
prosperity.

ENTHUSIASM isto help each other enthusiastically and achieve 6). RABEEMARSER SRR

the win-win goals of customers, company, and individuals. We respect 2008 F EUSEEHTREIEMEES Sk EEAAEER) ZHH=E-

humanity and make a harmonious work environment. Helping each other

enthusiastically means to care about our customers and colleagues so that (1). £ EHENXRHBRATDBEATRENKAE LM > EIZESHBEHHFESE
we can have prosperous future of customers, company, and individuals. 2009 & BUIER o

2). e EERERNBRARNSHEREAT T EBVEE (Luxgen) ERFIHHE -

HO N ESTY isto offer the society excellent products and service. In order (1). SR ITE B R » BT EEA SR o

i i 2010
to meet the demands of society, we continue to make efforts based on the F (). BB EH BTN AT B = o

honest principle to provide services and products of best quality and less

=

cost so as to make contributions to the society. 2o & M HENEE BB ABIZOERASE

(2). RELEERAE [ —EEREEAMNE -

(1). 2RE M EXARMEHET S
2012
012% (2). KR FARFAEE

. PM KBRS FRIAREE ©
UEESTRERRYPAIFRZAIFSIE

(

2013 & (
(3). REXEEHEAM IR R -
(

). BELENE _EE AR ERBIEHGHE o

2). BECERTERTOUNERESHEESHBMHEE -
). BYS4EED TUV SUD IE3 B3R BIERFISIE o
). &

(
2014 & E
(4). BEHH ARSI o

4). %

Q). BESHN TLBEH BT ERARELEHAZTEHAS 58 T ERH -
2015 F (2). BELEEE 24 BEIRERS -

— ey (3). BREAEERIMHABER)EEE 18 BNEALE -
= —— -
— . b .-"FF B
— -ﬁ _ 2016 F HMRLSEEHERE -SREPHHRARELEREE T > Eat 2019 EHEERM

2017 & EBRHUSEAEYE TS-16949 RETRAMINE o

2018 & SHSERE S —HBREERRUS

2019 £ HS IATF 16949 £23% o

2020 &£ EF UL B8 o




CONTENTS
HRERFIIRNE

IZ2E AE,AM FPIFREER

Character List IE1
Character List IE3 / GB2

IFERRXESEHM / ZEERMSHM

Standard Induction Motor Iron-casting Frame

AE %% (BAZX) IE1/IE3 AE Series (B3) / DN,AN Series
AE %% (3zx) IE1/IE3 AE Series (B5) / DN,AN Series

% 3 BY 13X E B 8 i

Standard Induction Motor Aluminum Frame

AM &5 (BEAZU) IE1 AM Series (B3)
AM 251 (3Zx) IE1 AM Series (B5/B14)

Standard Induction Motor Aluminum Frame
AM %5 (BAZX) IE3 IE1 AM Series (B3)
AM %51 (3Zx) IE3 IE1 AM Series (B5/B14)

AE series

0
i
@
0
=
<

48 G,D,TV R eE 05
Inverter Motor Iron-casting Frame

G,D %! (BAZ{) G,D Series (B3)

G,D &% (i) G,D Series (B5)
HRERAKE/ SRXREREAKE
Inverter Duty Motor Iron-casting Frame

TV &5 (BAZXX) TV Series (B3)

TV &% (32x) TV Series (BS)

Light Weight type Inverter Motor

DM/GM %%l (BAZL) DM/GM Series (B3) 26
DM/GM %%l (3Zz{) DM/GM Series (B5) (B14) 27
BENEESARE

Light Weight type Inverter duty Motor

VM/TM &% (BAZX) VM/TM Series (B3) 28
VM/TM %51 (323() VM/TM Series (B5) (B14) 29

Wiring Diagram #&#3(& 30

DV,GT R5liaH mMEBEE i 31
D\V,G,T Series Forced Cooling Fan Detail

w0
Q
=
(]
w
e
=

EARIRARIIMNEER

48 Motor type

FFRIZEE Rated Time

{R:€ 7438 Protection Enclosure

# A5 Method of cooling

18 & L8735 Mounting

Specification

FAEEH (HP) Rated Output

EZEEIR Input power supply

B Torque

4BE5 L 4R Stator Insulation

EiE Power

5P Place
ERIRIR -
Ambient f&iB Temperature
Conditions

SREE Humidity

123 Altitude

1Z##E Rotation Direction

aHELSAR
Coupling Method

Inverter Motor

Characteristic

= =®E R

= HEREXREEEE (SCIM)
3 Phase squirrel cage induction motor
ERETZE® (IEC) FERBIEREE (CNS)

HERETE FHAASS.F: 1.0 = Continuous rated, service factor: 1.0
IP54: 2%, = IP54,Totally enclosed
2% IC411 BESMNE R AD

AEN/DFN:7KSFE224E (IM1001) = AVN/DVN:FEZRZ24E (IM3001)
AEN/DFN: Foot Mounted = AVN/DVN: Flange Mounted

= |C411 Totally enclosed fan cooling

1/4 ~ 270 HP
220,380,415,440,460V 500r60HZ ( AI kB EE R H1E )

AN>DN RIIEEIECHEAEE:1:3

B2 &5 60HZ ~ 10HZ E#5E 10HZ ~ 6HZ IR RERHE SR AL IE LA 8
Constant torque 1:3

60HZ ~ 10HZ Constant torque, 10HZ ~ 6HZ decreasing torque

= AN>DN R&%I:H % (FEA{RE2Z— =)
= AN,DN series: H class (with thermal protector)

TEEREEE: +10% LA = Voltage variation:within =10%
SEREEZ . £5% LA = Frequency variation:within +5%

—REA (BREMERERLERZE)
Shadow, Non — Hazardous

— 15°C ~ 40°C

HEEPRE 80% UTF (RE4EE)
Relative Humidity less than 80% RH(Non — condensation)

#HK 1000 AR = Less than 1000 meter
E MR R 2 > AR 5 AAEE - Counter — clockwise facing the dri

EfBE (REERS ) IRTEE
Direct coupling/belt coupling

R ZRHGMBARETHANBHRRTEEBA BIEDUMBIT#HIRZ & -

BT IR

ve end

FUKUTA

J13s1ud3deIeY) 1010\ J91I9AUL



Induction Motor

i 3HE AE’AM Z 51958 Characteristic

= EE S ]

=iHEBEXREESH (SCIM)
3 Phase squirrel cage induction motor

&8 Motor type

- EREIEES (EC) HERBEERRE (CNS)
= BARTEREHE (UIS) - HERREE (GB)

IZAELETE EER =48 220V, 380V, 415V, 440V, 460V AJ KT B ERF R EAR
Standard Rated voltage for 220V,380V,415V,440V,460V available for
customer requirement

% sH&#E Design Standards

E R Voltage

M &

Specification $8% Frequency
B¥R9%EE Rated Time

1235 Protection Enclosure = IP54

KAESEE 500r60HZ = Rated frequency 500r60HZ

HEEEEE = S1(Continuous)

2817538 Method of cooling = 22 |C 411 B®SMNEISA) = 1C411 Totally enclosed fan cooling

=
>
o
c
0
=
o
=
=
(=}
+
o
=
(@)
=
1)
=
QL
0
-+
(1]
="
(7]
=8
(@]

AEEF IM1001 : 7KFRIEEZEEEAEVF IM3001 : (iR %4

. .
DS AEEF IM1001: Foot Mounted , AEVF IM3001: Flange Mounted

= BESHZF: £10% MUA = Voltage variation:within £10%
SEREEE . £50 WA = Frequency variation:within =5%
REEHE U EMAEREZME 10% XA

The total value of the absolute value for two points within 10%

—REA (BREMERERSERZE)

Shadow, Non — Hazardous

EiR Power

5FR Place

&R Temperature — 15°C ~ 40°C

HERE 80% U (FE4&E)

ARE Humidity Relative Humidity less than 80% RH(Non — condensation)

#1000 ARLLTF Less than 1000 meter

R ERTSED; 18 2 i 30HP W b E A K Ehas s E
For belt — drive Apptication;However, for 2 Poles 30HP and
Larger, Direct — Coupling Service Only.

125 Altitude

#E AR Coupling Method

& [[ Rotation Direction £88# [\ Available for CW or CCW rotation.

ERIRIR
. . - 2REEREE Y/ AKE
Cﬁ:dbilt?grtls B Starting Methods = Full Voltage Direct — on line or Y/A starting
- SREEEATURIREK

7% Bearing Type

Double shield Non — contact Ball Bearings

SR E B AS BN BEGED T WA 00 B L KRB HIFER AL
PAEZR AR, 1Z# R AMEELR Available rotation for 90°

HO4R 3.6.9.12 &> i ARG T

H42 & Terminal box

mn

c

x

c

-

>

m

@ HO#R Leads = 3/6/9/12 leads,with terminals

20

s = HE8%:63~180M B #RAB# = Frame No.63~180M B class
2 IE1 %5

8 . = HES%:180L ~ 315M F #R#B# = Frame No.180L~315M F class
= F4B%4: Stator Insulation

= AM %75 = F#R#B% = Fclass

IE3/GB2 &% = F#R4B% = Fclass

- BIFIREEARA 1SO - M A

4 i Thread = |SO Metric screw thread
HHERF - KIEEEEBIEE® (IEC34)
Test process = EAZEREENAIR = According to IEC34 standard

FUKUTA




Inverter Motor

Character

istic

b7 ’ AYNMEEE

= 2 3 S i

48 Motor type .

REHT 3

Protection Enclosure .

= HEREXREEEE (SCIM)

3 Phase squirrel cage induction motor
BERETZEE (IEC) \HERBEBEREE (CNS)

IP54: 22
IP54 Totally enclosed

= GF/DF/TF/VFVF: M$EE %

= . = GF/DF/TF/VFEF: 7k 224 (IM1001) £ (IM3001)
8
REF5T Mounting - GF/DF/TF/VFEF: Foot Mounted « GF/DF/TF/VFVF: Flange
Mounted
RAAR = 1C416: X R a2 A - RERE = RAVEE
Cooling Method = 1C416:Fan cooled = Cooling fan = Cooling fan
1BE] Pole = 2P - 4P = 6P
o i
A EAREEH (HP)
Specification Rated Output 1/4 ~75 1/4 ~ 270 1/4 ~215
BEER N
] HER
Input power supply 30220,380,415,440,460V 500r60HZ ( HAEIR )
o s - EEEEE , EARES.FIL0
RRIEARE Time Duty = Continuous rated, service factor:1.0
= VT RYIEEBEEHFEREHE:1:10
= Constant torque 1:10
I Torque = D,G 2% 60HZ ~ 10HZ E#H4E 10HZ ~ 6HZ iIEIRsSHIE |, BB AL IE LE A 8RR F
iR
= 60HZ~10HZ Constant torque, 10HZ~6HZ decreasing torque
BB N .
Starting Torque 125% FAEEHE = 125% of rated torque
BIEER = (G,T &% )F &~ (D,V 25 )H # ( MiZAfRsE2s — HEA2 )
Stator Insulation = G,T series F class: D,V series H class(with thermal protector)
5P Place - B (BREMREREERZE) = Shadow, Non — Hazardous
Ei#
%nﬁii?nti 1E5 Altitude ? D OB AR ATE
- = = Less than 1000 meter
Conditions
8 Temperature = — 15°C ~ 40°C

JRE Humidity

FEZEE [ Rotation direction

B HELE S coupling Method

Rt Painting

BEEMMY Optional accessories

HHENRE 80% T (RB4E)
Relative humidity less than 80% RH (Non — condensation)

E M #hiR1E 2 > AR 75 A e
Counter — clockwise facing the drive end

BEEBEG (EEiEeR) IEFEER
Direct coupling/belt coupling

B8 BRI + BN AR AR R0 + ME R (Munsell 7.5GB 4/2)
Rust prevention+Phenolic resin+Enamel paint

EI3REEE : PG (Encoder) #7528 1024PPR, Line drive DC — 5V/Push pull
DC — 12V S E MR
Encoder: 1024PPR, Line drive DC — 5V/Push pull DC — 12V or other type

R ZRHWMBAREHANBRBRTEREBA BIEDUMBIT#HiEZ & -

FUKUTA

H

J1Is1dldeieY) 1030\ J91I9AUL



Character List IE1
Thrﬁi.._‘lﬁ% EEME 60Hz 220V

Output Full Load Character Starting Character TMax.
orque
Frame
No

(@) Efficiency Power Current Torque Torque Current ®
3 . ! m % Factor % Amp. KG— M % Amp. %
a 2 3335 61.0 77.0 1.3 0.054 400 6 300 0.0002
(@) 1/4 0.185 4 1650 63 66.0 65.0 1.2 0.109 280 6 250 0.0009
s 6 1120 71 64.0 61.0 1.4 0.161 200 6 250 0.0013
= 2 3370 71 75.0 86.0 1.6 0.107 340 12 290 0.0006
. 1/2 0.37 4 1680 71 70.0 74.0 2.1 0.214 200 12 250 0.0013
z’., 6 1130 80 68.0 66.0 2.2 0.319 200 12 230 0.0024
2 3395 80 77.0 86.0 3.1 0.215 220 19 280 0.001
1 0.75 4 1700 80 76.0 76.5 3.2 0.430 230 19 280 0.0024
6 1140 90L 76.0 71.0 4 0.641 200 19 230 0.0047
2 3415 90L 80.0 88.0 5.6 0.428 250 40 280 0.0022
2 1.5 4 1710 90L 79.0 83.0 6 0.854 220 40 280 0.0047
6 1140 100L 78.0 74.0 6.5 1.281 180 40 220 0.0084
2 3420 90L 82.0 88.0 7.8 0.626 250 68 280 0.0031
3 2.2 4 1725 100L 82.0 81.0 8.3 1.242 210 68 260 0.0084
6 1140 112M 82.0 75.5 9.4 1.879 180 68 230 0.0151
2 3450 112M 84.5 90.0 13.0 1.044 240 110 280 0.0099
5 3.7 4 1750 112M 85.0 84.5 13.5 2.065 220 110 260 0.0151
6 1150 132S 84.0 77.5 15.0 3.133 180 110 230 0.034
2 3490 132S 85.0 90.0 19.0 1.534 220 160 260 0.0176
7.5 5.5 4 1750 1328 87.0 84.0 20.0 3.060 220 160 250 0.031
6 1150 132M 85.0 77.5 22.0 4.657 200 160 230 0.045
2 3490 132S 86.5 90.0 25.0 2.092 200 200 210 0.022
10 7.5 4 1750 132M 88.5 88.0 25.0 4.173 220 200 250 0.041
6 1170 160M 87.0 80.0 28.0 6.242 210 200 230 0.1047
2 3510 160M 88.0 90.0 36.0 3.052 200 290 240 0.0425
15 11 4 1760 160M 90.0 87.5 36.7 6.086 220 290 250 0.0827
6 1170 160L 89.5 83.0 39.0 9.155 210 290 230 0.1589
2 3520 160M 89.5 91.0 48.0 4.149 200 360 240 0.0646
20 15 4 1760 160L 90.5 86.5 50.3 8.299 220 360 240 0.1256
6 1170 180M 90.0 85.5 51.2 12.483 200 360 220 0.2798
2 3520 160L 90.0 87.0 62.0 5.118 200 440 230 0.0646
25 18.5 4 1760 180M 91.0 82.0 64.9 10.235 210 440 240 0.1505
6 1170 180L 90.0 84.5 64.0 15.396 200 440 220 0.3291
2 3520 180M 90.5 88.0 72.7 6.086 200 550 230 0.1093
30 22 4 1750 180M 91.5 88.0 72.0 12.241 210 550 240 0.1706
6 1170 180L 91.0 79.5 80.0 18.309 200 550 215 0.3785
2 3520 180L 90.5 91.5 95.1 8.299 150 620 210 0.1222
40 30 4 1760 180L 92.0 88.0 97.0 16.597 210 620 240 0.2108
6 1170 200L 92.0 87.0 98.0 24.967 190 620 215 0.4957
2 3545 200L 91.0 87.0 123.0 10.163 150 800 210 0.1804
50 37 4 1760 200L 92.0 84.5 125.0 20.470 200 800 230 0.3785
6 1170 200L 92.5 84.0 126.0 30.793 210 800 210 0.6251
2 3545 200L 91.5 90.0 143.0 12.360 170 910 220 0.1984
- 60 45 4 1760 200L 92.0 88.5 145.0 24.896 190 910 220 0.4279
; 6 1180 225S 93.0 83.0 153.0 37.133 210 910 210 0.8424
E. 4 1770 2258 93.5 91.0 170.0 30.257 185 1200 220 0.6389
= 75 55 6 1180 250S 93.5 86.0 179.0 45.385 200 1200 210 1.4203
E 8 885 280S 92.0 77.5 202.0 60.513 135 1200 210 4.5285
; 4 1775 2508 94.0 94.5 222.0 41.143 180 1450 220 1.063
)§> 100 75 6 1185 250M 94.5 89.0 234.0 61.627 200 1450 200 1.6571
9 8 885 280M 92.5 77.5 275.0 82.518 135 1450 210 3.8813
8 4 1775 250M 94.5 90.5 276.0 49.371 180 2100 220 1.2535
- 125 93.75 6 1180 280S 94.0 85.0 295.4 74.266 130 1990 230 3.8813
o 8 885 3158 93.0 78.0 326.5 99.021 130 1990 210 5.375
4 1770 280S 94.7 87.0 350.6 60.513 130 2420 230 2.6763
150 110 6 1180 280M 94.3 85.5 357.5 90.770 130 2420 230 4.2768
8 885 315M 93.0 78.0 397.3 121.026 130 2420 210 6.375
175 132 4 1770 280M 94.9 88.0 414.5 72.616 130 2910 230 3.088
6 1185 3158 94.5 86.0 426.6 108.464 130 2910 230 4.2768
215 160 4 1775 315S 95.0 89.5 494 87.771 130 3530 230 3.6027
6 1185 315M 94.6 86.5 513 131.471 130 3530 230 5.35
i?g ;g; 4 1775 315M 95.0 90.0 613.2 109.714 120 4450 230 4.5291

5F (Note): 1.45MAZEMKIEC34 (Examination method according to IEC34)
DU EHESEEES , AR B1TiEA o (All data is subject to change without prior notification.)

FUKUTA




Character List
Fiiuﬁﬁﬁﬁﬁﬁ

50Hz 380V

Full Load Character Starting C cter
rque

Frame
No Efficiency Power Current Torque Torque Current
% Factor % Amp. KG — M % Amp.

1sI7 J4930e4RY)

2 2800 56.0 76.5 0.7 0.064 3.5 330 0.0002

1/4 0.185 4 1380 63 64.0 68.5 0.8 0.131 220 3.5 240 0.0009

6 925 71 60.0 60.0 0.9 0.195 260 3.5 270 0.0013

2 2810 71 75.0 85.0 1 0.128 320 7 280 0.0006

1/2 0.37 4 1390 71 65.5 70.0 1.3 0.259 200 7 230 0.0013

6 930 80 63.0 67.0 1.4 0.387 200 7 230 0.0024

2 2820 80 76.5 87.0 1.9 0.259 220 11 280 0.001

1 0.75 4 1400 80 73.0 74.0 1.9 0.522 250 11 280 0.0024

6 940 90L 71.0 70.0 2.3 0.777 190 11 230 0.0047

2 2850 90L 80.0 88.0 33 0.512 250 23 280 0.0022

2 1.5 4 1410 90L 78.5 78.5 3.4 1.036 220 23 280 0.0047

6 945 1o00L 76.0 7.5 4.2 1.546 180 23 220 0.0084

2 2850 90L 83.5 88.5 4.6 0.752 250 39 280 0.0031

3 2.2 4 1420 100L 81.0 82.0 5.1 1.509 210 39 260 0.0084

6 950 112M 79.0 76.0 5.5 2.255 180 39 230 0.0151

2 2900 112M 85.5 90.0 7.3 1.242 240 63 320 0.0099

5 3.7 4 1440 112m 84.5 83.5 8.0 2.502 220 63 290 0.0151
6 955 1328 82.0 9.5 9.1 3.772 180 63 230 0.034

2 2890 1328 86.5 88.5 11.0 1.853 210 93 260 0.0176

7.5 5.5 4 1450 1325 86.0 82.5 12.0 3.693 220 93 280 0.031
6 960 132M 84.5 7.5 13.0 5.637 200 93 230 0.045

2 2900 1328 88.5 88.5 14.5 2.518 200 116 250 0.022

10 73 4 1450 132M 87.5 85.5 15.0 5.036 220 116 250 0.041

6 950 160M 86.0 80.0 17.0 7.687 270 116 300 0.1047

2 2910 160M 88.5 90.0 21.0 3.681 210 168 290 0.0425

15 11 4 1460 160M 89.5 88.0 21.0 7.336 220 168 250 0.0827

6 950 160L 88.5 84.0 22.5 11.042 220 168 260 0.1589

2 2920 160M 90.0 91.0 28.0 5.002 210 209 260 0.0646

20 15 4 1460 160L 90.5 88.5 28.5 10.004 230 209 260 0.1256

6 970 180M 89.0 82.5 31.0 15.057 210 209 230 0.2798

2 2920 160L 90.0 89.5 35.0 6.169 240 268 290 0.0646

25 18.5 4 1465 180M 91.0 86.5 35.7 12.296 210 268 240 0.1505

6 970 180L 90.0 82.5 38.0 18.571 220 268 240 0.3291

2 2920 180M 91.5 90.0 41.0 7.336 210 Siio) 250 0.1093

30 22 4 1465 180M 90.5 85.5 43.0 14.622 210 319 240 0.1706

6 970 180L 90.0 82.0 45.0 22.084 230 319 260 0.3785

2 2920 180L 92.0 91.0 54.0 10.004 210 398 240 0.1222

40 30 4 1460 180L 91.5 85.0 59.0 20.088 220 398 230 0.2108

6 970 200L 91.5 83.0 60.0 30.115 190 398 200 0.4957

2 2940 200L 92.0 87.5 70.0 12.254 150 463 210 0.1804

50 37 4 1460 200L 92.0 86.0 71.0 24.676 190 463 210 0.3785

6 970 200L 92.0 80.0 76.0 36.951 230 463 250 0.6251

2 2955 200L 92.5 87.0 85.0 14.828 160 582 220 0.1984

60 45 4 1460 200L 92.5 88.5 84.0 30.012 190 582 200 0.4279

6 980 225S 92.5 84.0 88.0 44,711 220 582 250 0.8424

4 1470 225S 93.0 85.0 106.0 36.431 180 725 200 0.6389

75 55 6 980 2508 93.5 86.0 104.0 54.647 200 725 200 1.4203

8 735 280S 01,5 76.0 120.0 72.863 140 700 210 4.5285

4 1475 250S 94.0 89.0 136.0 49.511 240 927 250 1.063

100 75 6 975 250M 93.5 87.0 140.0 74.901 220 927 250 1.6571

8 735 280M 91.5 76.0 164.0 99.358 140 960 210 3.8813

4 1475 250M 94.0 92.0 158.0 59.413 190 1245 230 1.2535

125 93.75 6 975 280S 93.8 81.0 180.0 89.881 130 1150 230 3.8813
8 735 Bii5S 92.0 77.0 193.0 119.230 140 1150 210 5375

4 1475 280S 94.5 83.0 213.0 72.616 130 1400 230 2.6763

150 110 6 975 280M 94.0 81.0 220.0 109.854 130 1400 230 4.2768
8 735 315M 92.0 77.0 236.0 145.725 140 1400 210 6.375

4 1475 280M 94.8 83.5 253.0 87.139 130 1680 230 3.088

1 132 6 980 3155 94.2 83.5 255.0 131,153 130 1680 230 4.2768

215 160 4 1480 315S 94.9 88.5 289.0 105.266 130 2030 230 3.6027
6 980 315M 94.5 85.5 301.0 158.973 130 2030 230 5.35

i?g ;i; 4 1480 315M 94.9 88.5 362.0 131.582 120 2550 230 4.5291

5F (Note): 1.45M/AZEMk IEC34 (Examination method according to IEC34)
2. U ESEEEEE , WAS1TEH o (All data is subject to change without prior notification.)

FUKUTA



Character List IE3
BENERER TS 60Hz 220V

80

N
>
o
q
Y
0
-~
o
=
=
(7]
-~

HP '“ Efficiency Power Current Torque Torque Current
% Factor % Amp. KG — M % Amp.

2 3460 80.0 84.1 2.9 0.211 435 26 430 0.0013
1 0.75 4 1730 80 85.5 71.6 3.2 0.422 415 26 420 0.0034
6 1145 90L 82.5 69.6 3.4 0.638 195 20 265 0.0067
2 3445 90L 85.5 85.6 5.4 0.424 395 46 395 0.0026
2 1.5 4 1745 90L 87.5 77.6 5.8 0.837 325 51 385 0.0062
6 1165 100L 88.5 68.6 6.5 1.254 170 44 270 0.014
2 3455 90L 86.5 88.0 7.7 0.620 390 70 400 0.0042
3 2.2 4 1745 100L 89.5 83.4 7.9 1.228 320 75 330 0.014
6 1160 112M 89.5 72.2 9.1 1.847 170 57 265 0.0199
2 3475 112M 88.5 91.4 12.1 1.037 320 120 385 0.0088
5 3.7 4 1750 112M 89.5 82.9 13.2 2.059 225 110 325 0.0199
6 1165 132S 89.5 78.7 13.9 3.093 185 105 280 0.0425
2 3510 132S 90.2 90.4 18.0 1.526 245 140 295 0.017
7.5 5.5 4 1760 132S 91.7 86.6 18.5 3.044 250 160 310 0.0414
6 1175 132M 91.0 76.8 21.0 4.559 230 170 345 0.0561
2 3510 132S 90.2 86.8 25.0 2.081 255 200 300 0.022
10 7.5 4 1765 132M 91.7 85.4 25.0 4.139 270 230 320 0.0517
6 1175 160M 91.7 79.1 27.0 6.217 280 210 285 0.1264
2 3535 160M 91.7 91.5 35.0 3.031 235 280 285 0.0476
15 11 4 1765 160M 92.4 87.1 36.5 6.070 245 290 275 0.0942
6 1170 160L 91.7 81.1 39.5 9.157 280 320 290 0.1661
2 3530 160M 91.7 89.9 47.5 4.139 240 390 290 0.0595
20 15 4 1765 160L 93.0 85.9 49.0 8.278 255 400 285 0.1198
6 1175 180M 92.0 82.6 51,5 12.434 240 340 235 0.3291
2 3535 160L 92.4 92.1 57.5 5.097 260 500 295 0.0749
25 18.5 4 1770 180M 93.6 87.9 59.5 10.180 250 470 265 0.1806
6 1180 180L 93.5 82.4 63.5 15.270 280 530 300 0.4114
2 3545 180M 93.0 90.2 70.0 6.045 225 560 280 0.1222
30 22 4 1775 180M 93.6 85.4 73 12.072 220 560 250 0.2108
6 1180 180L 93.5 84.3 74.5 18.159 285 590 285 0.4608
2 3550 180L 93.5 91.5 91.5 8.231 280 840 325 0.1415
g 40 30 4 1775 180L 94.1 84.9 98.0 16.462 225 720 255 0.2308
é 6 1180 200L 94.1 86.2 96.5 24.763 210 620 215 0.6251
; 2 8555) 200L 93.0 90.0 117.0 10.137 170 960 295 0.1984
m 50 37 4 1780 200L 95.0 85.9 120.0 20.246 215 870 250 0.4279
@ 6 1185 200L 94.1 86.0 121.0 30.412 240 860 240 0.6682
2 2 3555 200L 93.6 90.9 138.0 12.329 160 1000 265 0.2165
§ 60 45 4 1775 200L 95.5 84.8 145.0 24.693 215 1050 260 0.4937
55 6 1185 225S 94.5 86.3 144.0 36.987 240 1090 260 0.9026
§ 5 5 4 1785 225S 95.5 87.9 175.0 30.011 290 1440 260 0.7666
5 6 1185 2508 95.0 84.5 183.0 45.207 190 1260 260 1.4203
100 5 4 1780 250S 95.4 85.5 240.0 41.039 190 1870 300 1.1396
6 1185 250M 95.0 85.5 241.0 61.646 185 1620 250 1.6571
4 1785 250M 95.4 89.1 288.0 49.109 200 2540 305 1.3295
125 93.13 6 1185 280S 95.2 88.0 292.0 73.912 280 2600 250 3.5833
4 1785 280S 95.8 89.6 342.0 60.022 210 2900 260 2.2615
150 110 6 1185 280M 95.8 89.6 342.0 90.414 260 2900 240 4.0456

5 (Note): 1. FFMAZEMKIEC34 (Examination method according to IEC34)
2. U ESEEEEE , WASTEH o (All data is subject to change without prior notification.)

FUKUTA




Character List

EEY

i I“

7.5

10

15

20

25

30

40

50

60

75

125

150

o (Note) :

2 R

b gl [T

0.75

1.5

2.2

3.7

5.5

o5

11

15

18.5

22

30

37

45

55

75

93.75

110

1. 45 AZ MK IEC34 (Examination method according to IEC34)
2. MU EHERREE, R

o A O A O PO PO RN OO RN RENOOODRNOOO DN RN BRENOO AN RN RN RN RN BN

2860
1430
940
2835
1440
965
2845
1440
960
2870
1445
965
2915
1460
970
2905
1460
970
2930
1460
970
2930
1460
970
2930
1465
980
2935
1475
TS
2950
1475
980
2950
1480
980
2955
1475
985
1485
985
1480
985
1480
985
1480
985

==

BT

ERERIEER

80

80
90L
90L
90L
100L
90L
1o0L
112M
112M
112M
1328
1328
132S
132M
132S
132M
160M
160M
160M
160L
160M
160L
180M
160L
180M
180M
180M
180M
180L
180L
180L
200L
200L
200L
200L
200L
200L
225S
225S
250S
250S
250M
250M
280S
280S
280M

B4 o (All data is subject to change without prior notification.)

Efficiency
%

82.4
83.5
79.5
85.5
86.0
86.0
85.9
87.0
86.5
88.0
88.4
87.0
89.5
90.0
89.0
90.1
91.0
90.0
91.7
91.4
90.3
91.9
92.1
91.2
92.4
92.6
92.5
93.0
3.5
9P85
93.5
93.6
93.0
93.7
94.5
98,5
94.0
94.5
94.0
95.0
94.1
95.0
94.6
95.2
94.9
95.4
95.1

Power
Factor %

83.9
73.0
70.6
85.5
76.6
68.6
87.6
83.5
72.5
91.3
82.9
76.6
90.5
85.9
76.4
86.8
85.9
78.7
90.4
86.5
81.9
89.7
84.9
82.9
92.9
86.2
81.7
89.2
84.6
83.5
91.5
84.2
85.5
87.7
85.1
87.8
91.0
83.2
86.1
87.7
83.6
86.5
84.7
91.3
84.3
87.6
87.6

Current

Amp.

1.6
1.9
2.0
Sodl
3.4
3.8
4.5
4.7
5.4
7.1
7.7
8.5
10.5
11.0
12.5
14.5
14.5
16.0
20.5
21.5
23.0
213
29.0
30.0
33.0
35.5
37.5
41.0
43.0
44.0
53.0
57.5
57.0
69.0
70.5
69.0
79.5
86.5
84.0
102.0
108.0
138.0
141.5
163.0
177.0
203.5
204.0

IE3/GB2

Full Load Character Starting Character

Torque Torque
KG—M %
375

0.255
0.511
0.777
0.515
1.015
1.514
0.753
1.488
2.232
1.256
2.494
N8
1.838
3.669
5.523
2.515
5.003
o231
3.657
7.338
11.045
4.986
10.007
15.062
6.150
12.300
18.387
7.301
14.527
21.977
9.905
19.810
29.816
12.216
24.350
36.773
14.832
29.715
44.497
36.074
54.386
49.358
74.162
59.230
88.995
72.392
108.770

380
200
360
320
175
370
300
175
290
235
200
230
240
225
270
260
270
230
230
295
230
250
220
250
235
285
225
215
265
255
215
210
185
205
230
165
205
235
270
195
180
185
205
280
180
270

Current

Amp.

14
14
11
24
27
24
37
40
32
63
63
58
80
84
95

110

542
484
463

579
595

721
958

1400
1475
1580
1580

315

280
270

290
280

300
265

270
255
285

260
220

255
245

270
270

275
295
260

265
230
240

50Hz 380V

Inertia

0.0013
0.0034
0.0067
0.0026
0.0062
0.014
0.0042
0.014
0.0199
0.0088
0.0199
0.0425
0.017
0.0414
0.0561
0.022
0.0517
0.1264
0.0476
0.0942
0.1661
0.0595
0.1198
0.3291
0.0749
0.1806
0.4114
0.1222
0.2108
0.4608
0.1415
0.2308
0.6251
0.1984
0.4279
0.6682
0.2165
0.4937
0.9026
0.7666
1.4203
1.1396
1.6571
1.3295
3.5833
2.2615
4.0456

FUKUTA

1sI7 J4930e4RY)



INDUCTION MOTOR

AE EA=C
TE1 163 GB2

iR 2 BY X & & &) i

Standard Induction Motor,
Iron-casting Frame,

» Foot Mounted.

DFN/AEN BAst
e R ==

£ 47 £ ) B 5B 80 i B2

]
||
W
M
'l
M
wn
z
O
c
N
=
o
2
2
o
-
o
A

BB ‘ / A
PKK/ 4-0K

Fig.1

B3 Dimensions R <

Specifications # 1%

Output (HP)

nn
1/4 1/4 — —

Frame
No
63

1 100 28 120 143 117 94 80 100 40 63 8 134

1/2 1/2 1/4 — 71 1 112 375 138 163.5 129 107 90 119 45 71 11 152

1 1 1/2 1/4 80 1 125 38 155 175.5 138 114.5 100 130 50 80 9 168

25 8 2 1 1/2 90L 1 140 B85 170 200 150 128 125 150 56 90 10 190

— 3 2 1 100L 2 160 45 196 217.5 173 138 140 175 63 100 12.5 243

5 5 3 2 112M 2 190 45 224 238 180 149 140 175 70 112 14 265

7.5,10 7.5 5 3 1328 2 216 46 254 273 211 175 140 175 89 132 16 310

é — 10 7.5 5 132M 2 216 46 254 273 211 175 178 213 89 132 16 310
s 15, 20 15 10 7.5 160M 3 254 75 300 334 243 207.5 210 250 108 160 18 373
: 25 20 15 10 160L 3 254 75 300 334 243 207.5 254 300 108 160 18 BY78]
@ 30 25, 30 20 15 180M 3 279 80 355 381 293 240.5 241 297 121 180 20 421
; 40 40 25, 30 20 180L 3 279 80 355 381 293 240.5 279 335 121 180 20 421
§ 50,60 — — — 200LA 3 318 80 398 422 318 268 305 350 133 200 24 469
8 — 50, 60 40, 50 25, 30 200L 3 318 80 398 422 318 268 305 350 133 200 24 469
5 75 75 60 40 225S 3 356 94.5 453 473 390.5 321 286 354 149 225 30 515
. — 100 75 50 250S 4 406 104 501 526 468.5 379 311 425 168 250 37 578.5
— 125 100 60 250M 4 406 104 501 526 468.5 379 349 425 168 250 37 573.5

— 150 125 75 280S 5 457 110 560 637 544 434 368 445 190 280 36 706.5

— 175 150 100 280M 5 457 110 560 637 544 434 419 496 190 280 36 706.5

— 215 175 125 315S 5 508 115 615 632 544 434 406 490 215.5 315 40 T741.5

— 250,270 215 150 315M 5 508 115 615 632 544 434 457 540 215.5 315 40 741.5

= Remark: 1.Tolerance of Shaft End Diameter “D”: @11~ @28: j6 @38~ 048: k6 @55~ @95: m6
2.Tolerance of Shaft Center Height “H”:+0 ~ — 0.5 280S~315M” H” : +0~ — 1
3UEL FRAERIMNE R -

FUKUTA




AE series | INDUCTION MOTOR

——
— ——
Standard Induction Motor
pr Iron-casting Frame, Foot Mounted.
20 M
AC
wn
) 0
& @ E . [0}
.— w
ED
T 5 = ! z
- 5 H
FUKUTA —— HD }E,F — ‘7 o] ) 3 ] © 5
— —
J 1 { | J = H ) o
S % TT HE Hy + ;
—— HE
+ + 3
‘ ‘ + C AE Lan | ! DH Tap S
5 - < OKK/ 4-0K A | 2
BB QKK / 4-0K T’
Fig.2 Fig.3
AD L AD
L AC USABLE SHAFT LENGTH AC
i
ﬁ o L E -—'—'n

. . ‘7 . -
#%E? T$ HA ﬂ*4M B HA
EmE—=— i :t B DI T £ 9 e

RIRE ‘ ‘ AE
LE B C AE AA LE B C £
BB KK/ 6-@K A | BB

4-K Holes

Fig.5

B3 Dimensions R Shaft

K KK L LE
29 7 22 78

.
11 23 18 - 9 -

221 4 8.5 12.5 M4*10 620127 620177

42.5 7 22 240 75 14 30 25 - 5 11.0 16.0 M5*12.5 620277 620277 11 —
44 10 22 273 83 19 40 35 - 6 15.5 21.5 M6*16 620477 620377 15 18
54 10 22 875 94 24 50 45 - 8 20.0 27.0 M8*19 6205727 620477 22 26
60 12 28 367 104 28 60 55 - 8 24.0 31.0 M10*22 6206772 620577 30 39
75 12 28 388 118 28 60 55 - 8 24.0 31.0 M10%22 6306772 630527 40 47
76 12 35 448 139 38 80 75 - 10 33.0 41.0 M12%28 6308772 630677 60 68
76 12 35 486 139 38 80 75 - 10 33.0 41.0 M12%28 6308772 630677 70 75
88 14.5 35 612 184 42 110 105 - 12 37 45 M16*36 630927 630722 115 124
91 14.5 35 656 184 42 110 105 - 12 37.0 45.0 M16*36 630927 6307272 135 146
95 14.5 52 670 198 48 110 105 - 14 425 51.5 M16*36 6311727 631027 170/180 187/197
95 14.5 52 707.5 97,5 55) 110 105 - 16 49.0 59.0 M20*42 631277 631027 210 217
114 18.5 65 803 225 55 110 105 - 16 49 59 M20*42 631327 621277 280/310 300/330
114 18.5 65 803 225 60 140 135 - 18 53.0 64.0 M20*42 631377 621277 280/310 300/330
152 18.5 92 811 236 65 140 135 - 18 58.0 69.0 M20*42 631527C3 621377C3 360 367
155 24 92 912.5 293.5 75 140 135 - 20 67.5 79.5 M20*42 631627C3 631377C3 513 560
155 24 92 912.5 255.5 75 140 135 - 20 67.5 79.5 M20*42 6316227C3 631327C3 552 570
94 24 - 1103.5 315.5 85 170 140 157 22 76 90 - NU320C3 6316 792 792
94 24 - 1153.5 374.5 85 170 140 157 22 76 90 - NU320C3 6316 850 850
129 28 - 1192.4 401 95 170 140 157 25 86 100 - NU320C3 6316 1050 1050
129 28 - 1239.4 397 95 170 140 157 25 86 100 - NU320C3 6316 1110 1110

CERHERSENE, FERERBERBNELZS , ARBR T BTEXN

FUKUTA




INDUCTION MOTOR

 AEzs
y EEw

i % B X 1€ = B i

Standard Induction Motor,
Iron-casting Frame,

» Flange Mounted.

DVN / A
T Ean b, =

-, LD T A,EE 4 Holes-S
HEBREEH IR |

GA

||
W
M
'l
M
wn
z
O
c
N
=
o
2
2
o
-
o
A

DAC

1/4 1/4 - - 63 2 142 117
1/2 1/2 1/4 — 71 1 162 130 107 - 22 268 11.5 238 74 130
é 1 1 1/2 1/4 80 2 175 138 116 - 22 272.5 10 232.5 48 165
E' 2 8 2 1 1/2 90L 1 196 150.9 127 - 22 364 11 314 106 165
: - 3 2 1 100L 2 219 170 138 141.5 28 367 16 307 71 215
E 5 5 8 2 112M 1 234 173 148 152 28 428 13 368 118 215
; 7.5,10 7.5 5 3 1328 3 268 212 177 178 35 448 19 368 74.5 265
_(E — 10 7.5 5 132M 3 268 212 177 178 85 486 19 406 93.5 265
8 15, 20 15 10 7.5 160M 4 319 244 208 215 35 612 20 502 128.5 300
5 25 20 15 10 160L 4 Sio; 244 208 215 35 656 20 546 151 300
30 25,30 20 15 180M 4 355 298 246 239 52 669.5 20 599.5 151.5 350
40 40 25, 30 20 180L 4 B55) 295 243 239 52 707.5 20 597.5 170.5 350
50,60 - - - 200LA 4 399 318 265 264 65 803 20 663 163 400
- 50, 60 40, 50 25, 30 200L 4 399 318 265 264 65 803 20 663 163 400
75 75 60 40 225S 4 448.2 372 303 301.5 92 811 22 671 190 500
- 100 75 50 2508 4 498.1 4551 366.5 323.6 92 912.5 22 772.5 216 500
- 125 100 60 250M 4 498.1 455.7 366.5 323.6 92 912.5 22 772.5 216 500

= Remark: 1.Tolerance of Shaft End Diameter “D”: @11~ @28: j6 @38~ 048: k6 @55~ @60: m6
2.Tolerance of Guidance Diameter “N”:h7
3UEL MRAEAINEEE A o

FUKUTA




AE series | INDUCTION MOTOR

Standard Induction Motor

Iron-casting Frame, Flange Mounted.

AD

B E )
D T AE 4 Holes-S F m
7 S ©
i F X 3 8
y =0 e ‘ ") 1
g - s - H—1 onop P - i 5
‘ @D q
—— N A :
=2
LA L AD <]
LB E AE 4 Holes-S %
Fig.2 o1
—
o — s 1
T|| e S|
=]
o =
ke = HE_—F ener
s %3
é
| -
LA
Fig.3
L
B AD
AE 8 Holes-S
.
om
T % ‘ = ED
.
@) N ‘ % ﬁf( ONGP
3 12
-~
\ . im |
LA
Fig.4

e T T NN
B onoononoes e
110 160 10 3.0 11 23 18 9 -

G
4 8.5 12.5 M4*10 62017 620127
110 160 10 89 14 30 25 5] 11.0 16.0 M5*12.5 620277 6202727 11 -
130 200 12 3.5 19 40 35 6 15.5 21.5 M6*16 620477 620377 16 19
130 200 12 3.5 24 50 45 8 20.0 27.0 M8*19 620527 620427 25 29
180 250 15 3.5 28 60 55 8 24.0 31.0 M10*22 620677 620577 33 42
180 250 15 4.0 28 60 55 8 24.0 31.0 M10*22 630627 630527 45 52
230 300 15 4.0 38 80 75 10 33.0 41.0 M12*28 630827 630627 65 73
230 300 15 4.0 38 80 75 10 33.0 41.0 M12*28 6308772 6306727 75 80
250 350 19 5.0 42 110 105 12 37 45 M16*36 630927 630722 120 129
250 350 19 5.0 42 110 105 12 37.0 45.0 M16*36 630927 630722 140 151
300 400 19 5.0 48 110 105 14 42.5 51.5 M16*36 6311727 631027 175/180  195/200
300 400 19 5.0 55 110 105 16 49.0 59.0 M20*42 6312727 631027 220 227
350 450 19 5 55 110 105 16 49 59 M20*42 631377 621277 280/300  300/330
350 450 19 5.0 60 140 135 18 53.0 64.0 M20*42 631327 6212727 280/300  300/330
450 550 18.5 5 65 140 135 18 58 69 M20*42 631527C3 621327C3 390 420
450 550 18.5 5 75 140 135 20 67.5 79.5 M20*42 6316ZZC3 63137ZC3 52,5 530
450 550 18.5 5 75 140 135 20 67.5 79.5 M20*42 631627C3 631327C3 560 565

sERNHERSERE, RENERFUERBNEZE, AR HITERN

FUKUTA




INDUCTION MOTOR

AM E\=C

AMEF

$ S B X & & )i

Standard Induction Motor,
Aluminum Frame.

» Foot Mounted.

¢ J
g
w
M
=
D
wn
P
o)

c
g}
=
o
2
2
o
—
o
A

L
7 E : B
° i
@AC G GA
i $
° 2D
S DHT
a
LE B s b
BB
M
c
2 Specifications 7 1§ B3 Dimensions R Shaft Hi N#@ R~
-
>
=
m
i AB | AC LE
.Q° : II oppOSIte
z
] V8 L8 63 100 MG20 2115 68.5 4 85 125 M4*10 6201ZLU  6201ZLU
= 1/4 1/4 :
Q
o 12 12 1/4 — 71 112 140 133 90 119 45 71.0 80 195 162 7 MG20 245.0 80.0 14 30 25 5 11.0 16.0 M5*12.5 6202ZLU  6202ZLU 9
=
g
© 1 1 12 — 80 125 155 156 100 130 49.5 80.0 9.0 2085 179 10 MG20 2745 85.0 19 40 35 6 155 21.5 M6*16 6204ZLU  6203ZLU 12

23 | 2 1 1/2 90L 140 170 175 125 150 56 90.0 11.0 230.5 199.5 10 MG20 322.0 91.0 24 50 45 8 20.0 27.0 M8*19 6205ZLU  6204ZLU 18
— 3 2 1 100L 160 195 192 140 175 63 100.0 12.5 257 220.5 12 PG21 360.0 97.0 28 60 55 8 24.0 31.0 M10*22 6206ZLU  6205ZLU 23

5 5] 3 2 112M 190 224 219 140 175 70 112.0 140 285 2455 12 PG21 391.0 121.0 28 60 55 8 24.0 31.0 M10*22 6306ZLU  6305ZLU 31

7.5, 1.5,

0 10 5 3 132S 216 250 268 140 180 89 132.0 17.5 3240 287 13 (35 448.0 140.0 38 80 75 10 33.0 41.0 M12*28 6308ZLU  6306ZLU 50

= Remark: 1.Tolerance of Shaft End Diameter “D” :011~028: j6 @38~@48: k6

2.Tolerance of Shaft Center Height “H” :+0~-0.5
3UEL FRAE A SNHER o

FUKUTA




AM series | INDUCTION MOTOR

AMVF / AMVB (B14)

IE1
§ 8 A K [ 8

Standard Induction Motor,
Aluminum Frame.

» Flange Mounted.

¥OLOW NOILINANI S3|J3G wv

L
LB
D E AD 405
LA T
va F
[Am= = N
e o= = GA
L= o
GJel L, ld ‘
N @D
DH Tap

Shaft End Bearlngs
AC | AD | AE

4 85 125 M4*10  6201ZLU  6201ZLU 116 83.0 212.0 189.0 M5*10 6

14 30 25 5 11.0 16.0 M5*125 6202ZLU  6202ZLU 133 124 91.0 2450 2150 805 12 130 110 160 10 35 85 70 105 M6*1l 25 9
19 40 35 6 155 21.5 M6"16  6204ZLU  6203ZLU 156 132 99.0 274.5 2345 86.0 12 165 130 200 12 3.5 100 80 120 M6*11 3.0 13
24 50 45 8 20.0 27.0 M8*19  6205ZLU  6204ZLU 175 142.5 109.5 322.0 272.0 1185 12 165 130 200 12 3.5 115 95 140 M8*15 35 19
28 60 55 8 24.0 31.0 M10*22 6206ZLU  6205ZLU 192 160 120.0 360.0 300.0 126.5 16 215 180 250 15 3.5 130 110 160 M8*15 3.5 25
28 60 55 8 24.0 31.0 M10*22 6306ZLU  6305ZLU 219 173 133.0 388.0 3280 142.0 16 215 180 250 15 4.0 130 110 160 M8*15 35 34
38 80 75 10 33.0 41.0 M12*28 6308ZLU  6306ZLU 268 192 155.0 448.0 368.0 137.0 19 265 230 300 15 4.0 165 130 202 M10"20 4.0 55

= Remark: 1.Tolerance of Shaft End Diameter “D” :011~@28: j6 @38~@48: k6
2.Tolerance of Guidance Diameter “N”:h7

FUKUTA




INDUCTION MOTOR

AM EAz

e ) P ()

$ S B X & & )i

Standard Induction Motor,
Aluminum Frame.

» Foot Mounted.

w
M
=
D
wn
P
o)
c
g}
=
o
2
2
o
—
o
A

L
e L
® o
DAC G GA
+ '
®
| B —— @D
‘ DH Ta
LE B c L2090
BB
P Specification H1& B3 Dimensions R~ Shaft HAER
A
(] Output _—
= Shaft End Bearings
> (HP) Frame ual He Mounted
| Emk [T Tl e JoT o Lo o]
0
2 125 155 156 100 0 49.5 80.0 9.0 212 1795 MG20 2745 85.0 6 155 21.5 M6*16 6204ZLU 62032LU 13
(:%3 2,3 90L 140 170 175 125 150 56 90.0 11.0 232.5 199.5 10 MG20 322.0 91.0 24 50 45 8 20.0 27.0 M8*19 6205ZLU 6204ZLU 20
= 5 112M 190 224 219 140 175 70 112.0 140 285 2455 12 PG21 391.0 121.0 28 60 55 8 24.0 31.0 M10*22 6306ZLU 6305ZLU 38
o}
ie] 7.5,10 132S 216 250 268 140 180 89 132.0 17.5 3240 287 13 35 4480 140.0 38 80 75 10 33.0 41.0 M12*28 6308ZLU 6306ZLU 50
=
g
o

B3 Dimensions R~ Shaft AR <+
FOOt

F Load Side | Opposite
1 80 125 155 175 100 50 80 85 2225 1895 10 MG20 2775 875 19 40 35 6 21.5 155 M6*16 6204ZLU 6203ZLU 15
2 1 90L 140 180 196 125 56 90 12 250 210 10 PG21 325 94 24 50 45 8 27.0 20 M8'19 6205ZLU 6204ZLU 23
3 2 100L 160 196 219 140 63 100 125 273 233 12 PG21 371 108 28 60 55 8 31.0 24.0 M10*22  6206ZLU 6205ZLU 28
5) 3 112M 190 224 234 140 70 112 14 2904 251 12 PG21 390 120 28 60 55 8 31.0 24.0 M10*22  6306ZLU 6305ZLU E5)
7.5 5 132S 216 250 268 140 89 132 175 324 287 13 235 448 140 38 80 75 10 33.0 41.0 M12*28  6308ZLU 6306ZLU 57

= Remark: 1.Tolerance of Shaft End Diameter “D” :011~@28: j6 @38~@48: k6
2.Tolerance of Shaft Center Height “H” :+0~-0.5

FUKUTA




AM series | INDUCTION MOTOR

=
~N

SRR E 8 il

Standard Induction Motor,
Aluminum Frame.

» Flange Mounted.

>

=

<

A
¥OLOW NOILINANI S3|J3G WV

LB

AD 4-0S

e

B5/B14 Flange R~ B5 Flange R~ B14 Flange R+t

Flange
_
AC] AD LD

19 40 35 6 155 21.5 M6*16 6204ZLU 6203ZLU 156 132 99.0 274.5 234.5 86.0 12 M6*11 13
24 50 45 8 20.0 27.0 M8*19 6205ZLU 6204ZLU 175 142.5 109.5 322.0 272.0 118.5 12 165 130 200 12 3.5 115 95 140 M8*15 3.5 20
28 60 55 8 24.0 31.0 M10*22 6306ZLU 6305ZLU 219 173 133.0 391.0 331.0 142.0 16 215 180 250 15 4.0 130 110 160 M8*15 3.5 38
38 80 75 10 33.0 41.0 M12*28 6308ZLU 6306ZLU 268 201.0 158.5 449.0 369.0 137.0 19 265 230 300 15 4.0 165 130 202 M10*20 4.0 58

Shaft 78R B5/B14 Flange Rst B5 Flange R+t B14 Flange R+
nge

Load Side | Opposite

6 21.5 155 M6*16 6204ZLU 6203ZLU 175 142.5 109.5 275.5 235 90 12 165 130 200 12 3.5 100 80 120 M6*11 3.0 16
8 27.0 20.0 M8*19 6205ZLU 6204ZLU 196 160 120 364 314 140.5 11 165 130 200 12 3.5 115 95 140 M8*15 3.5 26
28 60 55 8 31.0 24.0 M10*22 6206ZLU 6205ZLU 219 173 133.0 374 314 142 16 215 180 250 15 3.5 130 110 190 M8*15 3.5 35
8 31.0 24.0 M10*22 6306ZLU 6305ZLU 234 178 139 428 368 182 15 215 180 250 15 4.0 130 110 200 M8*15 4.0 43
38 80 75 10 33.0 41.0 M12*28 6308ZLU 6306ZLU 268 201.0 158.5 449.0 369 137 19 265 230 300 15 4.0 165 130 202 M10*20 4.0 62

= Remark: 1.Tolerance of Shaft End Diameter “D” :011~@28: j6 @38~@48: k6
2.Tolerance of Guidance Diameter “N”:h7

FUKUTA




FUKUTA

2.Tolerance of Shaft Center Height “H”:+0 ~ — 0.5280S~315M” H” : +0~ — 1

e
—
INVERTER MOTOR B
—
"_-—__
£=% 3
Inverter Motor,
Iron-casting Frame
» Foot Mounted.
= O & =] 7
R REAEE
AD
AD L AC
L AC
e = T - ¥ - E
Va— —
ﬁ = | ¢ €D
—) " | — ‘
F FUKUT 1 il HD & F FUKUTA® I HD o
== ] [ J |
o o = Afj H T H —
\ i 1 HE HA ® [ HA)
P | :¥ h TiT il L HVE
LE | B Ll c AE ‘ \ ‘ \
56 | OKK 3 LE | B 1 c AE | ‘AA ?
40K AB BB A |
KK/ 4-0K AB
Fig.1 Fig.2
Specifications #i #& B3 Dimensions R
Output (HP) Frame
Fi AA AB AC AD AE BB C H HA HD
IEC I I o B
1/4 1/4 - - 63 1 100 28 120 143 117 94 80 100 40 63 8 134
1/2 1/2 1/4 - 71 1 112 315 138 163.5 129 107 90 119 45 71 11 152
1 1 1/2 1/4 80 1 125 38 155 175.5 138 114.5 100 130 50 80 9 168
2,3 2 1 1/2 90L 1 140 35.5 170 200 150 128 125 150 56 90 10 188
- 3 2 1 100L 2 160 45 196 217.5 173 138 140 175 63 100 12.5 243
5 5 3 2 112M 2 190 45 224 238 180 149 140 175 70 112 14 265
7.5,10 7.5 5 3 132S 2 216 46 254 273 212 176 140 175 89 132 16 310
- 10 7.5 5 132M 2 216 46 254 273 212 176 178 213 89 132 16 310
15,20 15 10 7.5 160M 3 254 75 300 334 244 207.5 210 250 108 160 18 373
25 20 15 10 160L 3 254 75 300 334 244 207.5 254 300 108 160 18 373
30 25,30 20 15 180M 3 279 80 355 381 293 240.5 241 297 121 180 20 421
40 40 25,30 20 180L 3 279 80 855 381 293 240.5 279 335 121 180 20 421
50,60 - - - 200LA 3 318 80 398 421 318 268 305 350 133 200 24 469
= 50, 60 40, 50 25,30 200L 3 318 80 398 421 318 268 305 350 133 200 24 469
75 75 60 40 225S 3 356 94.5 453 468 390.5 321 286 354 149 225 30 515
= 100 75 50 250S 4 406 104 501 526 468.5 355.9 311 425 168 250 37 573.5
- 125 100 60 250M 4 406 104 501 526 468.5 355.9 349 425 168 250 37 573.5
- 150 125 75 280S 5 457 110 560 628 544 434 368 445 190 280 36 706.5
- 175 150 100 280M 5 457 110 560 628 544 434 419 496 190 280 36 706.5
- 200,215 175 125 Bi5S 5 508 115 615 635.5 544 433 406 490 2153 315 40 741.5
- 250,270 215 150 315M 5 508 115 615 635.5 544 433 457 540 215.5 315 40 741.5
= Remark: 1l.Tolerance of Shaft End Diameter “D”: @11~ @28:j6 @38~ @48: k6 @55~ ©95: m6



LE

30
425
44
54
62
75
76
76
88
91
95
95
114
114
152
155
155
94
94
129
129

G,D series | INVERTER MOTOR

Inverter Motor

Iron-casting Frame, Foot Mounted.

i HD \§r(‘:» '2‘
N TN v
K
| Koy
AE f
A
DKK/ 4-@K AB
Fig.3
AD
AC
E
ED,
,HD — — PR
i HA
It / o N
/ AE ||l
A
OKK | 6-@K / AB ‘

Fig.4

B3 Dimensions R <

323 180

7 22
7 22
10 22
10 22
12 28
12 28
12 35
12 35

145 35

145 35

145 52

145 52

185 65

185 65

185 92
24 92
24 92
24 -
24 -
28 -
28 -

314.5
378
435
467
483
531
569
738
782
772
810
886
886

985.5

1099.5
1099.5
1489.5
1540.5
1579,8
1630.5

< N
V) \ U]
2D
DH Tap
L AD
USABLE SHAFT LENGTH AC
C o,
?/ . Vain)
\
= HA,
) )
AE ‘
LE & C L 4-K Holes A LA.AL
BB (L AB
()
1IN
Fig.5 e

St R

149.5 14
188 19
204 24
204 28
213 28
222 38
222 38
310 42
310 42
300 48
300 55
308 55
308 60
410.5 65
480.5 75
442.5 75
761.5 85
761.5 85
788 95
788 95

30
40
50
60
60
80
80
110
110
110
110
110
140
140
140
140
170
170
170
170

[ o] - | &0
11 23 18

25
35
45
55
55
75
75
105
105
105
105
105
135
135
135
135
140
140
140
140

157
157
157

Foot

Shaft End
G
4 8.5
5 11.0
6 15.5
8 20.0
8 24.0
8 24.0
10 33.0
10 33.0
12 37.0
12 37.0
14 42.5
16 49.0
16 49
18 53
18 58.0
20 67.5
20 67.5
22 76
22 76
25 86
25 86

157

HARHERFEME, RERERBERBNBEES, A2 STEMN

12.5
16.0
21.5
27.0
31.0
31.0
41.0
41.0
45.0
45.0
51.5
59.0
59
64
69.0
79.5
79.5
90
90
100
100

M4*10
M5*12.5
M6*16
M8*19
M10*22
M10*22
M12*28
M12*28
M16*36
M16*36
M16*36
M20*42
M20*42
M20*42
M20*42
M20*42
M20*42

620127 6201727
620277 620277
620477 620327
620527 6204272
6206727 620577
630627 630527
630827 630627
630827 630627
630977 630722
630977 630722
631177 631027
6312727 631027
631377 621277
6313727 621277
631527C3 621377C3
63162ZC3 631322C3
6316ZZC3 63137ZC3
NU320C3 6316
NU320C3 6316
NU320C3 6316
NU320C3 6316

9
11
15
22
30
40
60
70
115
135
170/180
210
280/300
280/300
360
513
552
865
925
1250
1550

FUKUTA

UOLOW ¥ILIIANI S313G a'b



INVERTER MOTOR

+
y N T

518 fR3E BRREAKE
Inverter Motor,
Iron-casting Frame

» Flange Mounted.

L
LB
F
T —==
=
| S '
Q@ le - 3 ’l\__é \‘J
——
DH Tap
L
LB

HB

BAC

FUl

]

e

Specifications 8 &

AE

B5 Dimension R~f

-

l-\“"\-n.ﬂ‘_‘_'

e,

e ——

AD
AE 4 Holes-S
w? O
N @P < o -
KK B0 =
Fig.2

put (HP)
Fi \| AC
I I I T e

1/4 1/4 — — 63 2 142 123
1/2 1/2 1/4 — 71 1 162 133
1 1 1/2 1/4 80 2 175 143
2,3 2 1 1/2 90L 1 196 154
— 3 2 1 100L 2 219 172.7
5] 5 3 2 112M 1 234 181
7.5,10 7.5 5 3 132s 3 268 217
— 10 {85 5 132M 3 268 217
15, 20 15 10 7.5 160M 4 319 244
25 20 15 10 160L 4 319 244
30 25,30 20 15 180M 4 355 295
40 40 25, 30 20 180L 4 355 302.5
50,60 — — — 200LA 4 395 318
— 50, 60 40, 50 25,30 200L 4 395 318
— 75 60 40 225S 5 448.2 372
- 100 75 50 2508 5] 498.1 455.7
- 125 100 60 250M 5 498.1 455.7

94
107
116
129

137.8
148
176
176

207.5

207.5
243
243
265
265
303

366.5

366.5

- 22
- 22
- 22
- 22
141.5 28
152.5 28
178 35
178 35
215 35
215 35
239 52
239 52
264 65
264 65
301.5 92
323.6 92
323.6 92

= Remark: 1.Tolerance of Shaft End Diameter “D”: @11~ @28: 6 @38~ @48: k6 @55~ @60: m6

2.Tolerance of Guidance Diameter “N”:h7

FUKUTA

325

12

15
19
19
20
20
20
20
20
20
22
22
22

302

462.5
451
489
628
672
665
700
747
747

845.5

9595

959.5

37

118
74.5
OBR5
128.5
151
151.5
170.5
163

190
216
216

--

130
130
165
165
215
215
265
265
300
300
350
350
400
400
500
500
500



GA

LB

DAC

G,D series | INVERTER MOTOR

Inverter Motor

Iron-casting Frame, Flange Mounted.

110
130
130
180
180
230
230
250
250
300
300
350
350
450
450
450

160
200
200
250
250
300
300
350
350
400
400
450
450
550
550
550

B5 Flange R <

10
12
12
15
15
15
15
19
19
19
19
19
19
18.5
18.5
18.5

@D
DH Tap
AD L
E AE 4 Holes-S LB E
D | T
/ d
[an]
T ED
o =
2 =1 H H
s S | -
S=—=—2
LA
Fig.4
L
B E
370 o
& \ &
.
o =
T 1 m ED &
(&}
= = d o Zla
Sliami B 8= %)
L1 )
B,
DKK
. 8 Holes-!
& &
LA| 8-45°
Fig.5

33
3.5
BES
3.5
4.0
4.0
4.0

14
19
24
28
28
38
38
42
42
48
55
55
60
65
75
75

30
40
50
60
60
80
80
110
110
110
110
110
140
140
140
140

25
35
45
55
55
75
75
105
105
105
105
105
135
135
135
135

ShaftE

IR I N BT ICETY T

©® o o o U M

10
12
12
14
16
16
18
18
20
20

HARHERFSENE, KERERFERSNEEE , A2TRKFSTEMN

11.0
15.5
20.0
24.0
24.0
33.0
33.0
37.0
37.0
425
49
49
53
58
67.5
67.5

12.5
16.0
21.5
27.0
31.0
31.0
41.0
41.0
45.0
45.0
51.5
59
59
64
69
799
79.5

M4*10
M5%12.5
M6*16
M8*19
M10*22
M10*22
M12*28
M12*28
M16*36
M16*36
M16*36
M20*42
M20*42
M20*42
M20*42
M20*42
M20*42

Bearmgs

620127
620277
620477
620527
620627
630627
630827
630877
630977
630927
6311727
631277
631327
631377
631577C3
631677C3
631677C3

620127
620277
620377
620427
6205727
630527
630627
630677
630722
630722
631027
631027
621277
621277
621377C3
631327C3
631377C3

8 Holes-S

| ey [ ewswsy Lem
el e

Flange
unted

9
12
16
25
33
45
65
75
120
140
175/180
220
280/300
280/300
401
537
573

FUKUTA

UOLOW ¥ILIIANI S313G a'b



INVERTER DUTY MOTOR

A W aEE=w

\V EAZL

TFEF / VFEF

Inverter Duty Motor,
Iron-casting Frame

» Foot Mounted.

EKT / AEEKV

AD
AD L

Y, ¥

M
=
M
wn
2
<
m
A
-
m
Py
o)
c
—
<
2
o
-
o
A

AC

,_
>
N

9 & ;
= | | ED,
(L= - ML
onion= PR=1=E NI\ : R Il P o T e
IR =T [ TR T ] r @
i [} U= L £
e I8 1lc OKK AE LE B lc | LN ae AR
e e = Y
DKK/ 4-0K AB
Fig.1 Fig.2
put (HP) AE
1/4 1/4 — — 63 1 100 28 120 144 117 94 80 100 40 63 8 139
1/2 1/2 1/4 — 71 1 112 37.5 138 163.5 132 104 90 119 45 71 11 157
1 1 1/2 1/4 80 1 125 38 155 175.5 142 114.5 100 130 50 80 9 168
2,3 2 1 1/2 90L 1 140 35.5 170 201 153 128 125 150 56 90 10 190
— 3 2 1 100L 2 160 45 196 217 171 138 140 175 63 100 12.5 241.5
5 5 3 2 112M 2 190 45 224 238 182 149 140 175 70 112 14 264.5
é 7.5,10 7.5 5 3 1328 2 216 46 254 273 212 176 140 175 89 132 16 310
; — 10 7.5 5 132M 2 216 46 254 273 212 176 178 213 89 132 16 310
E 15,20 15 10 7.5 160M 3 254 75 300 335 243 207.5 210 250 108 160 18 373
2 25 20 15 10 160L 3 254 75 300 355 243 207.5 254 300 108 160 18 373
g 30 25, 30 20 15 180M 3 279 80 355 381 293 240.5 241 297 121 180 20 417
i 40 40 25,30 20 180L 3 279 80 355 381 301 243 279 335 121 180 20 421
‘S 50, 60 — — — 200LA 3 318 80 398 421 318.5 268 305 350 133 200 24 469
s — 50, 60 40, 50 25, 30 200L 3 318 80 398 421 318.5 268 305 350 133 200 24 469
— 75 60 40 225S 3 356 94.5 453 473 390 321 286 354 149 225 30 515
— 100 75 50 250S 4 406 104 501 525 468.5 379 311 425 168 250 37 573.5
— 125 100 60 250M 4 406 104 501 525 468.5 379 349 425 168 250 37 573.5
— 150 125 75 280S 5 457 110 560 637 544 434 368 445 190 280 36 706.5
— 175 150 100 280M 5 457 110 560 637 544 434 419 496 190 280 36 706.5
— 215 175 125 315S 5 508 115 615 632 544 434 406 490 215.5 315 40 741.5
— 250,270 215 150 315M 5 508 115 615 632 544 434 457 540 215.5 315 40 741.5

= Remark: 1.Tolerance of Shaft End Diameter “D”: @11~ @28:j6 @38~ #48: k6 @55~ @95: m6
2.Tolerance of Shaft Center Height “H”:+0 ~ — 0.5280S~315M” H” : +0~ — 1

FUKUTA




TV series | INVERTER DUTY MOTOR
~

~. Inverter Duty Motor

Iron-casting Frame, Foot Mounted.

sy

-

JOLOW ALNQA J3LAI3ANI SaIJaS

AD
L | AC
\ F
@ n
o A\ c ~
. == s § -
58 an ? — )1 N
- %-L J oF ‘ %4 . ‘
= H
1 ] H:E HA| pHTap
| np——
LE | B |lc AE AA %
BB A ‘
Fig 3 OKK | 4-OK AB
AD
L | _AC L AD
! USABLE SHAFT LENGTH AC
. " E
‘ ED. V . A
i " HD
EEE] - ] — MV =D
M
" HE A
® O — j‘ S ©
LE *BJ . c AE N \A}A;
BB DKK/ 4-0K AB AB

Fig.4

Shaft

B3 Dimensions R

HE K KK L LE
e e e e
17 7 22 338 195 11 23 18

S Foot
L ee | F ] 6 ]e] on [ Loadside mounted
N 9

4 8.5 12.5 M4*10 620177 620127
18 7 22 394.5 229.5 14 30 25 - 5 11.0 16.0 M5*12.5 620277 620277 11
29 10 22 414.5 224.5 19 40 35 - 6 155 215 M6*16 620427 620327 15
39 10 22 465 234 24 50 45 - 8 20.0 27.0 M8%19 6205727 620477 22
49 12 28 497 234 28 60 55 - 8 24.0 31.0 M10%22 6206727 620527 30
61 12 28 53205 252.5 28 60 55 - 8 24.0 31.0 M10*22 630627 630527 40
73 12 35 621 312 38 80 75 - 10 33.0 41.0 M12*28 630827 630627 60
73 12 815 659 312 38 80 75 - 10 33.0 41.0 M12*28 630877 6306727 70
86.6 14.5 35 768 340 42 110 105 - 12 37.0 45.0 M16*36 630927 630722 115
91.2 14.5 35 812 340 42 110 105 - 12 37.0 45.0 M16*36 630927 630722 135
95 14.5 52 802 330 48 110 105 - 14 42.5 51.5 M16*36 6311727 631027 170/180
90 14.5 52 844.5 330 55 110 105 - 16 49.0 59.0 M20*42 631277 6310Z7 210
114 18.5 65 937 359 55 110 105 - 16 49 59 M20*42 631327 621277 280/300
114 18.5 65 937 850) 60 140 135 - 18 53.0 64.0 M20*42 631377 621277 280/300
152 18.5 92 985.5 410.5 65 140 135 - 18 58.0 69.0 M20*42 63157ZC3 62137ZC3 360
155,38 24 92 1099.5 480.5 75 140 135 - 20 67.5 T79.5 M20*42 6316Z22C3 631327C3 513
155.3 24 92 1099.5 442.5 75 140 135 - 20 67.5 79.5 M20*42 631627C3 631377C3 552
94 24 - 1485.5 757.5 85 170 140 157 22 76 90 - = NU320C3 6316 880
94 24 - 1540.5 761.5 85 170 140 157 22 76 90 - NU320C3 6316 950
129 28 - 1574.5 783 95 170 140 157 25 86 100 - NU320C3 6316 1300
129 28 - 1626 783 95 170 140 157 25 86 100 -— NU320C3 6316 1600

AR HERFENE, RERERFERRNBES, AQERFSTEN

FUKUTA




M
-
M
wn
2
<
m
A
-
m
Py
o)
c
—
<
2
o
-
o
A

Y, ¥

A W aEE=w

'al1'00 'HOVIN 8 0313 VinM

INVERTER DUTY MOTOR

TV st

TFVF / VFVF
HHREHKE

Inverter Duty Motor,
Iron-casting Frame

» Flange Mounted.

LB E AE 4 Holes-S

DAC

AEVKT / AEVKV
BEHNEREHREHEE

4 Holes-S

- AT ONOP

1t Fum

DAC

B5 Flange R~

Output (HP)
i AD AE HB KK L LA LB LD
| » | o | o ]

1/4 1/4 — — 63 2 142 125 94 - 22 338 12 315 36
1/2 1/2 1/4 — 71 1 162 130 107 - 22 423 11.5 393 74
1 1 1/2 1/4 80 2 175 142.5 116 - 22 429 10 389 50
2,3 2 1 1/2 90L 1 196 157.6 127 - 22 514 11 464 106
— 3 2 1 100L 2 219 172.7 138 141.5 28 512 16 452 71
5 5 3 2 112M 1 234 181 148 152,5 28 5175 15 575 118
7.5,10 7.5 5 3 132S 3 268 212 176 178 35 621 19 541 74.5
— 10 7.5 5 132M 3 268 212 176 178 35 659 19 579 83.5
15,20 15 10 7.5 160M 4 319 244 208 214.5 35 768 20 658 128.5
25 20 15 10 160L 4 319 244 208 214.5 85 812 20 702 151
30 25,30 20 15 180M 4 355 295 243 239 52 806.5 20 696.5 151.5
40 40 25, 30 20 180L 4 855 295 243 239 52 844.5 20 734.5 170.5
50,60 — — — 200LA 4 395 318 265 264 65 937.5 20 797.5 163
- 50, 60 40, 50 25, 30 200L 4 395 318 265 264 65 937.5 20 797.5 163
- 75 60 40 225S 5 448.2 372 303 301.5 92 985.5 22 845.5 190
- 100 75 50 250S 5 498.1 455.7 366.5 323.6 92 1099.5 22 95985 216
- 125 100 60 250M 5 498.1 455.7 366.5 323.6 92 1099.5 22 959.5 216

= Remark: 1.Tolerance of Shaft End Diameter “D” :011~@28: j6 @#38~@48: k6 @55~@60:m6
2.Tolerance of Guidance Diameter “N”:h7

FUKUTA

130
130
165
165
215
215
265
265
300
300
350
350
400
400
500
500
500




N TV series | INVERTER DUTY MOTOR
~

~. Inverter Duty Motor

Iron-casting Frame, Flange-Mounted.

\\\

|
]
\

w

\\ b

=

F D]

0

H

3

g N

O a © r!,;

N\ 2

=]

‘ c

@D 2

L DH Tap AD L AD 2
LB E AE 4 Holes-S LB E ) AE 8 Holes-S 3
z

N T
&
g £
AN
Fig.4
L AD
LB E AE
L]
@© 0 v v
I
; ‘ l 0
é T I = als
2 2 o
222 \@2 . J =

DKK]

B5 Dimensions R 3t
S
110 160 10 3.0

11 23 18

4 8.5 12.5 M4*10 620127 620177 9
110 160 10 8.5 14 30 25 5 11.0 16.0 M5%12.5 620277 620227 12
130 200 12 3.5 19 40 35 6 15.5 21.5 M6*16 620427 620327 16
130 200 12 BES 24 50 45 8 20.0 27.0 M8*19 620527 620427 25
180 250 15 3.5 28 60 55 8 24.0 31.0 M10*22 6206727 620577 33
180 250 15 4.0 28 60 59 8 24.0 31.0 M10*22 630677 630577 45
230 300 15 4.0 38 80 75 10 33.0 41.0 M12*28 630827 630627 65
230 300 15 4.0 38 80 75 10 33.0 41.0 M12*28 630877 630677 75
250 350 19 5.0 42 110 105 12 37.0 45.0 M16*36 630927 6307272 120
250 350 19 5.0 42 110 105 12 37.0 45.0 M16*36 630977 630722 140
300 400 19 5.0 48 110 105 14 42.5 51.5 M16*36 631177 6310ZZ 175/180
300 400 19 5.0 55) 110 105 16 49.0 59.0 M20*42 631277 631027 220
350 450 19 5 55 110 105 16 49 59 M20*42 631377 6212727 280/300
350 450 19 5 60 140 135 18 58 64 M20*42 631377 621277 280/300
450 550 18.5 5 65 140 135 18 58 69 M20*42 631577C3 621377C3 402
450 550 18.5 5 75 140 135 20 67.5 79,3 M20*42 6316ZZC3 63137ZZC3 538
450 550 18.5 5 75 140 135 20 67.5 79.5 M20*42 631677C3 63137ZC3 573

AR HERFEME, RERERFERBNBEES, A28/ STEMN

FUKUTA




INVERTER MOTOR

DM/GM EA=t

EENEHEEE

Inverter Motor,
Light weight type

» Foot Mounted.

SpeCIflcatlons o L

pUt HP) Shaft e
Frame Foot
No. 2 || e L mounted
2P | 4P GA pposite
snde

12 12 14 — 140 133 90 45 71.0 80 207 164 7 MG20 345.0 180.0 5 11.0 16.0 M5*12.5 6202ZZ 620277 9
1 1 12 — 80 125 155 156 100 130 49.5 80.0 9.0 226 179 10 MG20 3445 1550 19 40 35 6 155 21.5 M6*16 6204ZZ 6203ZZ 12
23 2 1 1/2 90L 140 170 175 125 150 56 90.0 11.0 2455 199.5 10 MG20 427.0 196.0 24 50 45 8 20.0 27.0 M8*19 6205ZZ 6204ZZ 18
— 3 2 1 100L 160 195 192 140 175 63 100.0 12.5 264 220 12 PG21 470.0 207.0 28 60 55 8 24.0 31.0 M10*22 6206ZZ 6205ZZ 23
5 5 3 2 112M 190 224 219 140 175 70 112.0 14.0 289.5 245 12 PG21 48380 2180 28 60 55 8 24.0 31.0 M10"22 6306ZZ 6305ZZ 31
7ig’ 71'2' 5 3 132S 216 250 268 140 180 89 132 17.5 323.7 288 13 @35 532.0 223.0 38 80 75 10 33.0 41.0 M12*28 6308ZZ 6306ZZ 50

= Remark: 1.Tolerance of Shaft End Diameter “D” :011~@28: j6 @38~@48: k6
2.Tolerance of Shaft Center Height “H” :+0~-0.5

FUKUTA



| INVERTER MOTOR

DM/GM iz

DMVF /DMVB | GMVF/ GMVB
RSBHERKE

Inverter Motor, LB
Light weight type T AD  _ 4-95
» flange Mounted.

UOLOW ¥3L¥3ANI S31J3G WO//“S

DH Tap

Shaft i} B5/B14 Flange R~ B5 Flange R Bl4 Flange RsF

aft E Bearlngs
.'.II.- oadsice OPPOSIte

5 11.0 16.0 M5*12.5 620277 620277 1.0 3450 315.0 805 35 85 M6*11 2.5 9
19 40 35 6 155 21.5 M6*16 620422 6203ZZ 156 1455 99.0 343.0 303.0 86.0 12 165 130 200 12 3.5 100 80 120 M6*1l 3.0 13
24 50 45 8 20.0 27.0 M8*19 620527 620477 175 1555 109.5 427.0 377.0 1185 12 165 130 200 12 3.5 115 95 140 M8*15 35 19
28 60 55 8 240 31.0 M10"22  6206ZZ 6205ZZ 192 164 1205 470.0 410.0 1265 16 215 180 250 15 3.5 130 110 160 M8*15 3.5 25
28 60 55 8 24.0 31.0 M10*22 6306ZZ 63057z 219 1775 1335 488.0 4280 142.0 16 215 180 250 15 4.0 130 110 160 M8*15 3.5 34

38 80 75 10 33.0 41.0 MI12*28 63087ZZ 6306ZZ 268 192 1585 532.0 452.0 137.0 19 265 230 300 15 4.0 165 130 202 M10*20 4.0 55

= Remark: 1.Tolerance of Shaft End Diameter “D” :@11~@28: j6 @38~048: k6
2.Tolerance of Guidance Diameter “N”:h7

FUKUTA



INVERTER DUTY MOTOR

VM/TM

VMEF/TMEF

Inverter Duty Motor,
Light weight type

» Foot Mounted.

L

:
<
[4

SalJo

1NAa 43133ANI

Shaft End Bearings

Load .

o

m

o 12 12 14 - 71 112 140 133 90 119 45 71.0 80 2025 162 7 MG20 370.0 2050 14 30 25 5 11.0 16.0 M5*12.5 6202ZZ 62027ZZ 9

o

5

2 1 1 12 - 80 125 155 156 100 130 49.5 80.0 9.0 223.0 179.5 10 MG20 423.5 2335 19 40 35 6 155 215 M6*16 6204ZZ 6203ZZ 12

o

O

g 2,3 2 1 1/2 90L 140 170 175 125 150 56 90.0 11.0 242.5 199.5 10 MG20 477.0 246.0 24 50 45 8 20.0 27.0 M8*19 6205ZZ 6204ZZ 18
- 3 2 1 100L 160 195 192 140 175 63 100.0 12.5 264.0 220 12 PG21 510.0 247.0 28 60 55 8 24.0 31.0 M10*22 6206ZZ 6205ZZ 23
5 5 3 2 112M 190 224 219 140 175 70 112.0 14.0 286.5 245 12 PG21 533.0 263.0 28 60 55 8 24.0 31.0 M10*22 6306ZZ 6305727 31
75, 15,
0 10 5| 3 132S 216 250 268 140 180 89 132 17.5 3325 287 13 @35 622.0 313.0 38 80 75 10 33.0 41.0 M12*28 6308ZZ 6306ZZ 50

= Remark: 1.Tolerance of Shaft End Diameter “D” :011~@28: j6 @38~@48: k6
2.Tolerance of Shaft Center Height “H” :+0~-0.5

FUKUTA




VM/TM series | INVERTER DUTY MOTOR

Inverter Duty Motor

Light Weight t
ght Weight type "
[<
N
+ <
MT -
%
E
VMVF /VMVB | TMVF /TMVB ;
<
(SR EBRERRE
Inverter Duty Motor, 5
Light weight type 2
» flange Mounted. g
LB -
LD E AD ) 4-9S
LA
F

T

7 &

N

@D
DH Tap
] -

£

ik
AN

DH Tap

14 30 25 5 11.0 16.0 M5*125 620277 620277 133 1315 91.0 370.0 340.0 805 12 130 110 160 10 35 8 70 105 M6*1l 2.5 9

19 40 35 6 155 21.5 M6*16 620477 620322 156 143.0 99.0 4235 383.0 860 12 165 130 200 12 3.5 100 80 120 M6*11 3.0 13
24 50 45 8 20.0 27.0 M8*19 620522 620477 175 1555 109.5 477.0 427.0 1185 12 165 130 200 12 3.5 115 95 140 M8*15 35 19
28 60 55 8 24.0 31.0 M10*22  6206ZZ 6205772 192 159.5 120.0 510.0 450.0 126.5 16 215 180 250 15 3.5 130 110 160 M8*15 3.5 25
28 60 55 8 240 31.0 M10"22 6306ZZ 6305ZZ 219 173.0 133.0 533.0 473.0 1420 16 215 180 250 15 4.0 130 110 160 M8*15 3.5 34

38 80 75 10 33.0 41.0 MI12*28 6308ZZ 6306ZZ 268 200.0 158.5 621.0 541.0 137.0 19 265 230 300 15 4.0 165 130 202 M10*20 4.0 55

= Remark: 1.Tolerance of Shaft End Diameter “D” :@11~@28: j6 @38~048: k6
2.Tolerance of Guidance Diameter “N”:h7

FUKUTA




Motor Wiring Diagram

6 Lead © 00
A ﬁ 3 ﬁ ©0O0
§< % Power line Power line
w1 m\ uz2 Low Voltage Delta High Voltage Wye
V2 V1 Run Start
(Y] (N
9 Lead
v2 z ﬁ z 000
u2
Power line Power line
Vi Low Voltage Delta High Voltage Wye
W5 20 (N
W2 V5
W1
12 Lead @ o0
0 Z Z Z
w%§§/¥%?m
’ = 00
w1 ue Power line Power line Power line Power line
Run Start Run Start
V6 V5 V2 V1 ea) 2L ) oY)
: ------ Lowvolt  ------2 e Highvolt ......:

FUKUTA



H»BHMARMAMEGR : IKREE (INE « KN

H)-dBEE(ABN ) hEBRIEEE > WH
FAERFeSHERE (R) 18 -

AylaslRESHE (FEIE)

Series Forced Cooling Fan Detail ( Iron-casting Frame )

e L L e | curens )

1 230V 50/60 0.11/0.09
71 1 230V 50/60 0.25/0.23
80 1 230V 50/60 0.25/0.23
90 1 230V 50/60 0.11/0.15
100 1 230V 50/60 0.11/0.15
112 1 230V 50/60 0.11/0.15
132 1 230V 50/60 0.22/0.17
220 / 380V 50 1.2/0.7
160 3
220/ 380V 60 1.2/0.7
220/ 380V 50 1.2/0.7
180 3
220/ 380V 60 1.2/0.7
220/ 380V 50 1.2/0.7
200 3
220/ 380V 60 1.2/0.7
220/ 380V 50 1.9/1.1
225 3
220/ 380V 60 1.8/1.0
220/ 380V 50 1.9/1.1
250 3
220/ 380V 60 1.8/1.0
220/ 380V 50 3.6/2.1
280 3
220/ 380V 60 3.6/2.1
220/ 380V 50 3.6/2.1
315 3
220/ 380V 60 3.6/2.1

Aylasl@mEEHE (E&iE)

Series Forced Coding Fan Detail ( Aluminum Frame)

I S S T R

230V 50/60 0.07 /0.06
71 1 230V 50/60 0.11/0.09
80 1 230V 50/60 0.25/0.23
90 1 230V 50/60 0.25/0.23
100 1 230V 50/60 0.11/0.15
112 1 230V 50/60 0.11/0.15
132 1 230V 50/60 0.22/0.17

FUKUTA



INNOVATION » ENTHUSIASM - HONESTY \

www.fukuta-motor.com.tw

® = M == 4 g {2\ ‘I\E
FUKUTA® Ry,

#A8) Headquarter / BTHE / PEEEFH JEEE X
ahmidiE 2 TRk 18 57 MM OBRCER R 14255 5 12
No.18, Fenggoing S. Rd., Shen Kang Dist., Tel: 886-2-2601-9559 Fax: 886-2-2601-5119
Taichung City 429, Taiwan "
Tel: 886-4-2515-9568 Fax: 886-4-2515-9538 mEERA
aEmREERE 201 & 158118
93 EREE FengZhou Plant Tel: 886-6-2098-236 Fax: 886-6-2085-402

etk EZMNES 301 & 2-1 5%

No. 2-1, Ln. 301, Feng Chou Rd., Shen Kang Dist.,
Taichung City, Taiwan, 429

Tel: 886-4-2528-8833 Fax: 886-4-2528-3979

AARE£ZEO0 #HXE4 YTK

T 556-0011 ABRAFAPRARIEXEE S 2-10-70
BAIENR—=T 22T — 19 B

Tel: 81-06-7662-8687 Fax: 81-06-6777-7941

© 2021 FUKUTA ELEC. & MACH. CO., LTD. ALL RIGHT RESERVED. EHE#KHAIRAE © WRiEFE 2021.2




